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If absent from my class:
1. Always check my blog for details, etc
2. Always check the Class Papers Basket for...

3. Ask for the solutions to the previously scored
assignment so you can check your work, etc.
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In Algebra 1 you learned about the multiple
representations of functions:
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’ . What are the locations of key points ?

Q. What is the domain ?

3 Is there a maximum or minimum y-value ?
If so, what is it?

¢} Can we identify 5 integer inputs and their
outputs ? (five graphing friendly points)
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Make a Complete on Graph Paper
- Plot points accurately

- Scale axis appropriately
- Label key points
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Rows Pods of 3 to 4
_ N
Rows Pods of 3 to 4
Rows Pods of 3 to 4
Rows Pods of 3 to 4
Rows Pods of 3 to 4

Strong preference for rows

Slight preference for rows

I'm flexible

Slight preference for pods

Strong preference for pods
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Thduding af leost one Stademment starting with

"At first we were confused by..."
"This makes sense because..."
"We weren't sure about..., so we tried..."

"Something interesting that we noticed about our graph is..."
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1- 13bdf 15-17, 20, 25

If you want a challenge, you can
do #22 instead of #25

ot
Ve

if you were abgent yesterday,
please see me about a short

Pre-test we took yesterday
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Avoid the cycle of des

If you are struggling with the work, don't
leave school that day unless you get help
or come in early the next day.




